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Group - A

Answer any ten questions. 2xl0:20

1. What is Metaphysics?

2. Give an example of some metaphysical objects.

3. What is Naive Realism?

4. State the rnain objective of re$rarig/ theory of causality.

5. What is scientific realism?"
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6. What is meant by 'phenomena' in Kant's philosophy?

7. "Esse est percipi" 
-

(a) Whose statement is this?

(b) Write the meaning of this statement.

8. What is Representative Realism?

9. What is Idealism?

10. What is the name of the method propounded by Hegel?

I l. Define cause.

12. What is Interactionism?

13. What is parallelism theory of mind-body relation?

14. Write the definition of substance after Descartes.

15. Write the full name of Kant. Write the name of any two
books rvritten by Kant. 1+1

Group - B

AnsweranyJfonrquestions. 5x4:20

16. 'God is the only substance' - Who said this and why?

17" Why Locke's theory of representative realism is called
'iron-curtain' theory? Briefly explain.

18. Briefly compare between Descartes and Spinoza's theory
of substance.
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19. Briefly discuss whether Berkeley's idealism can be

regarded as solipsism.

20. How does Kant distinguish between phenomenon and
noumenon? Discuss.

21. Do you think that parallelisms is a satisfactory
explanation of the mind-body relation? Justifr your
answer.

Group - C

Answeranylwo questions. l0x2*2A

22. Explain and examine the basic principles of Naive
Realism. Do you think that this theory is satisfactory?
Justifr your answer. 1+3

23. Why does Kant consider space and time as wo a priori
forms of intuition? Discrxs.

24. Explain the entailment theory of causality. Is the theory

acceptable? 8+2

25. Explain and examine Interactionism as a theory of the
relation between mind and body.
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Santali Version

QA.nVq-O

DglQa G2 @Zp GA\AG b5bp2 uZZAG O2p8) ZU

UZ- tx\0=t0

q. aCIsze9sa. oba oo uzoac-a?

z. bvgeabguz uggv$vg9eab vaoau )zzac
oa.Gba. zu uzt

e. Lasap a)avob$aes ea gzg oaea?

c. Y80ao ra3-DoG9 (1)azo5(1)a99 )zeac u\z
oaboaosoa ga g2g buea?

k. vg)$zLvda, $ozob(l)aes ea szg ou)ca?

e. baena a@ va.;Ga.z sz 'a()s()(9az' uzzaz
oz9 o5u$u).G-a?

Z. "Esse est percipi" -
oo$u bboz ea o60GaG? eogu) $ogaz,
SZZAG UZZZ9 gO gzg 5AAA OZU) 8P UZI

ts. asao7evg,87u5p00 C)azo50)ags g8 gzg
bazu?

Ce. (1)$A09(DA0S abA OA UZOAG-A?

\o. ozGzp asaoasozoa oSabs (aaesgaaoz)
s,zvu)c qbobq go gzg oava?

\\. basae szeaG pabb€aB go gze oaaa?
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NZ. bS2Ga-ASaO20S7GU)$U)9 gO gze baza?

\e. OaAUO-UOZZ )ZC5)G VASU).G $A0)OO OZ

YOUA^OOSAp ea gzg baea?

\G. ezbalo aG u80 0z gsa(l)s()a nzzac
pabbaau 98 gzg-oea op uzl

\c. baun as 8bsa. qbo50 eo gz9 }u)za?
oazrn aG opac DUI1,JA GZ (1)ASGa AOOO(')

*zza)G q505cl op uzt N*\

QU).n?q-O

\e. '^LVZ) Z (,oGOG OAOU) UZ9UAOSa 9sAosoa',

- 8,00G2 pa.G u)oaga?

\e. pab aG 8sao2s5a7 $oLo5$AgU)G AAOOA

go gzDac 'pGa)(,a Doo8z70a' oaooa 0a
uzaac-a? baanaoz ozbb(Sac uzl

\r. ezbaso as vu zova aG esaosoa ()a(Dao

uzoo$u)e u5gssz baanaoz uvenaG
oSpoz,auSpab Gapog uzl

\G. oaDbpz aG ()aa()s(t)ag eoov uvenaG
aQaGvas$^vz$ag? baana oz Gapog uzl

w. aazn gze pzbg)oz aosoaau as oovoS
u asSa nzza@ 05e9sz aaasab SebG
aoagad? ozbbaard uzl
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z\. va)azoasapoae9 9ab7 oyaauo4wz va.Ga.G
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ZU UZI
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LOAVSU)$ OZ ()zbbAU)G, UZI U)U V7il USZZdA
zzgu oaooa e8 vozoovtJazoo? ozpa
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ze. bu)zn gzeac gvLou aD zuG GZ (bapbz)
aSNxDaoa 2799eAA aftxD€a(l)g $ZZAG oaseA
aba! s50 p?baoz pzogaG-a? ozbbaae
UZI

tG. basa8 $a$80 0z Ssazaboz Oaooa )22,8)G

UZt 8+Z

zG. QZZUO A) UOZZ )ZZAG LA.@A.G AA$AO OZ

u7oaazbs2ca(l)a99 (zbbaa a) avga.s uz I
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Full Marks : 60 Time : Three Hours

The figures in the margin indicate full marks.

Candidates are required to give their answers
in their own words as far as practicable.

Group - A

Answer any ten questions. 2xl0:20

1. What is Primary qualrty?

2. What is the meaning of the dictum, 'To be is to be

perceived'?

3. Which Philosopher deeply influenced by Hume?

4. Give an example of synthetic a priori proposition.

5. 'Space and time are a priori intuition's - where is this

Kantian notion expressed?

P.T.O.
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6. Who is the author of 'Critique of Pure Reason' and in

which year was it Published? 1+1

7. Is Berkeley's theory of Idealism a Solipsism'

8. Define substance after SPinoza.

9. Which kind of realism was advocated by Locke?

10. State two characteristics of Mechanistic evolution'

11. What is the problem of Metaphysics?

12. Define Idealism.

13. What is Entailment theory?

14. Who says, 'substance : God : Nature'?

15. What is Interactionism?

Group - B

, Answer anYlfozr questions. 5x4:20

16. How does Berkeley refute the existence of abstract

General Ideas? ExPlain.

17. Discuss, in brief, the role of God in Berkeley's

Philosophy.

18. Explain, in brief, Hume's theory of causal relation'

19. How does Locke distinguish between primary and

secondary qualities? ExPlain'
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20. Distinguish, following Kant, between Appearance and
Reatrty.

21. Did Kant tuly against Metaphysics? Discuss.

Group - C

Answeranylwo questions. lOx2:20

22. Discuss critically subjective Idealism of Berkeley.

23. Discuss, after Kant about Space and Time. 5+5

24. Explain in brief the basic tenets of parallelism regarding
mind-body problem.

25. Explain the view of Locke and Berkeley about
substance. 5+5

ffir{-{rn
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ersrFM qrTcq cot{ls r

s r 'frBs q+ Ftre< Rsr1 qr-q{ <Dfi-sr cs q<( +u qlcar
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)b- | g6g'K"l q*"[6 RBcl-{ q&$5 qqc+.c't <il?[I $r<t I
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<ll'ru't s"rfi I

qo | $1S5E w1q.{at s.r{ q<vl{ q1i eFG qsr{ {tafu
Cq"fl\s t

\) r stt ft'q{raf qcef qRfu ft.nftr qtr-qlu-{t smtl

frEttt - 6t
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t. 'To be is to be perceived'- AG UZZZ9 gO gzg

oaza?

e. abard va.naa.zvdU). eo ozg5u oaozD oz
G4.(J2) pzou)oG asa0a20z pzea?

G. UVenAC A5SoaOaGZ7gSe(sa y,1capzyl\
$OSOZ )ZZ,U)G SA,GOAI ZU UZI

e.'gvv\u as Zac (bap) oGccc bae,a
abNoaoaGL2o,sglsa a.Gba.u'- oazn aG zw)a
()aboa(l)9(l)a abaM aanug)p pzza?

(. 'b 2n2b aa$ aucos szDau' a?/0a0) szu
sagaczoa eo oooa as o za.v Lap sz
z,osa eo aanz.ap pzea? t+\

e. oasbpz EG oaoa(I)ags g86V
awoozeeszhaoa$ag ?

e. yuZZgDU) AZSLA\Z, OAAZ gsA(l)9(l)a szaae
aoSGu zu uzl

G. pob abu) $aLo5Q)AgS NZZ ASA(I)AbOA ?

\o. CIa80s2b 070asoag,$ag9 !,zzag oasca
GWW 8p UZr

\N. Ae(}z()?esga. s?BaG znozneaz 8a g?g
oaza?

\t. (i)AAoSCIAg )ZZU)G VOGGA Zu U?,
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\e. asaraboz vouuozefu? 00a oo uzou)G-g)?

\G. '9S4(t)9(1)O: VU,V.O) = &SObZOZ' OOAGAG
(t)aboa()9()a ?

\G. bszca asaoZbszca()ags go gze ou)ea?

QA.nVq-O

DAQU) GZ A9CGA bSbPZ )ZZ,AG OZPA ZU UZ-

GxG=20

\e. oasopz gzg pzoaoz 07u5Noa vauazz,o
gAASAUA )ZZAG OVOToAA bAaUOaU
aoaeao? ozbbaac uzl

Na. oasbpz aG La.)G,a.a !z vyvo) aG zzzu
$a$oo oz baanactag8aoz Ga900 uzr

\r. basDabu)w $u)aym oz cngSu a@ ul)srcxao
baanaoz (ubb$aG uzl

Ke. pab $29 pZOg)OZ UbbbAAGlr^ AS GOUASGW

oapasze aaasab abaea? ozbbaard uzl

zD. oaen wwSv baoz a(l)9(l)8au aD 8$ab202
LOOOU) )ZZAS AAASAb b9bG9 Ct? r

t\. baan eoov Daoaasoaa uzvzg 0e
ag$702s9a.? Gapas uzl
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QU).nVq-@

IJUIOU) GZ CIASGA b5bpz szaaG azpa zu uz_

\Ox3=gP

99 awrewd)(Saos()ae9 vaDvga.)U)G

uzl

?4. evaou as z,u)G (bap) $aq)oo oz bazn aG
o$ax)8o (wboaa UZt c+G

uSbbaa

rc. esa()9(l)a aaq)ao oz pab as 0asbpz aG
uoo (zbbaac AZt
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